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Precalculus Name: K
Conic Section - Ellipses Day 2 Period:

Worksheet #3

Directions: Write an equation in general form for each ellipse.

1. Fociat (+4,0); endpoints of major axis (+6,0)
MgjoR : X-aXIS a=0 H=J6% -2
CentOR(O 0) bzz\l—s— !6=3b’b2
b*= 20
— -l‘i— 1_/ = = \rg
l:b " 20 b=120=2

2. Fociat (0,44); endpoints of major axis (0,+7)

majorz Y -axi$ b=7 4=m

- lb=+49-a%
2=33
XQ 2 a
33" Tj?{'d a =\J33

3. Write the equation of the ellipse with a major axis from (-3, 1) to (9, 5) and a minor axis that is 4 units long.

MA[OR AIS = [ b=
=6  center:(3,5)

-2)2 2
(st) , (y-5)2_ 1\
4 -3+6=3
?
X~ coord.
0+ center

4. Write the equation of the ellipse with a center at (1, -8), a focus at (1, -2), and the end of the major axis at (1,0)
mapR ayis: (paralled, fo)y-oxs  -g->0=%

mayor radiw)
—1)2 )°r
(x-D2  (y+8)*_ focus: -8=>-2 = 6 5% 5,8
29 ]
' - 6 = g?_ - wz
36= b4 -a?
a= 20 = 247
5. How does the equation of a circle relate to the equation of an ellipse?
v \
xz + 2 - '«2 2 2
3 Z-z- + y_; :1
U az b
X* . y2 elpse=>r is o(«'f[ownt alorg
St =1 hongontal & veviical
= re 00
Circce = r 1§ the Same «ld the
way avoun OVER!
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Directions: Convert the following equations to standard form of an ellipse by completing the square. Then, graph
each ellipse, including the foci.

6. 4x2+9y?2 - 16x + 90y + 205=02 c A
(4x2 6y {Ay? +90y)= -20
4(x?-4x+E)ta(y2 +loyra8)=-25+1 +225
4(X-92)2 +a(y+5)* =3

30 26 36

;i\
\ 4

(x;lz)2 . (5;5)2 1 center: (2,-5)

EEEEEN *\
foci: {327 = [§ = (2-75,~5) B

(2*\’—5)-5) T~

7. 4x2+36y%+40x-288y+532=0 A

(462 +40%)+{3by2 - 2981 ~532

4(x? +iox+ 25 )+36(y? -8y + Lo )= -532+100 +STb &

4(x+5)? + 3L (y-4)* = |44 SEERSEEED

BE EL; 4

A
\ 4

(X;Z)2+ (y ':44')2 =1 center:(-5,4)

foor : Jo2-22=032 =4 =>(-5+42, 4)

("5 '4&; 4’)

8. 49x2+16y2+98x-64y-671=0 Y,
@9x* +98%) Hioy? -c4y)= 611 | va:
49(x2 +9x + L) Hloly? -4y+ ) =671 v42+ £& / \
4a(x+1)2+16(y~-2)*=18%

194 194 784 | te

/,

~_

Y
\ 4

1
N

2 2
Q‘-lﬂ)— + (}L'_zl= 1 center:(-1,2)
2 Z9

foe) : \,72-42 = {ég > (-I,Z*\l?'%)

(-1, 2-{%3)
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